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Q1 Define Kinematic Pair. How are the kinematic pair classified? Explain with examples. [1+4]
Q2 With neat sketch, describe various inversion of a four bar mechanism or the inversion of double-slider crank. [3]
Q3 Explain with neat sketch: Beam Engine or Watt Indicator Mechanism [5]

Q4 In a Slider — crank mechanism, the crank is 480 mm long and rotates at 20 rad/s in the counter clock wise direction. The
length of the connecting rod is 1.6m. When the crank turn 60° from the inner dead centre, explain the construction of
velocity diagram and determine: [7]

1. Velocity of slider.
2. Velocity of point E located at distance 450mm on the connecting rod extended.
3. Angular velocity of the connecting rod.
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